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1. Which one of the following is not matter?

(a) elemental phosphorous

(b) light

(c) dust

(d) pizza

(e) dimethyl sulfoxide

2. A sample of matter, found in Australia, was identified as X and was found to consist of 98% silicon and 2% aluminum. Another sample of matter, also identified as X, was found in Texas and was determined to consist of 90% silicon and 10% aluminum. X is a(n).

(a) mixture

(b) pure substance

(c) element

(d) compound

3. Which one of the following is not a physical property of water?

(a) it is non-toxic to humans

(b) it boils at 100°C at a pressure of 1 atmosphere

(c) it is clear and colorless

(d) it freezes at 0°C

(e) it reacts rapidly with potassium metal to form potassium hydroxide

4. Which one of the following has been the most extensively tested?

(a) law

(b) hypothesis

(c) theory

(d) trend

5. Gases and liquids share the property of 

(a) indefinite shape

(b) constant composition

(c) definite volume

(d) compressibility

6. Which is a chemical process? 

(a) melting of lead

(b) tarnishing of silver

(c) crushing of stone

(d) dissolving of sugar in water

(e) none of these.
7. Consider a mixture of sand in salt water. This mixture could be separated into its three components (sand, salt, and water) by first _____________the mixture and then _____________ the remaining mixture.

(a) filtering, distilling

(b) distilling, distilling

(c) filtering, filtering

(d) distilling, filtering

8. Which one of the following has the element name and symbol correctly matched?

(a) P, potassium

(b) Mg, manganese

(c) C, copper

(d) Ag, silver

(e) none of the above is correct.
9. Which one of the following elements has a symbol that is not derived from its foreign name?

(a) tin

(b) mercury

(c) aluminum

(d) lead

(e) copper

10. A health food store was advertising vitamin C in tablet form, each containing 100 mg of pure vitamin C. The only difference between the advertised brands of vitamin C was the source of the vitamin. Vitamin C from which source is the healthiest choice?

(a) broccoli

(b) oranges

(c) laboratory synthesis

(d) lemons

(e) all of the above.

11. Passing an electric current through a certain substance produces oxygen and sulfur. This substance cannot be a(n)

(a) pure substance

(b) element

(c) compound

(d) mixture
12. Which one of the following is the highest temperature?

(a) 302 K

(b) 96° F

(c) 38° C

(d) none of the above

13. Which one of the following objects is the most dense?

(a) an object with a volume of 0.00212 m3 and a mass of 4.22 x 104 mg

(b) an object with a volume of 2.5 L  and a mass of 12.5 kg

(c) an object with a volume of 3.91 x 10-24nm3 and a mass of 793 x 10-14 ng

(d) an object with a volume of 139 mL and a mass of 93 g

(e) an object with a volume of 13 dm3 and a mass of 1.29 x 103 µg

14. Which of the following is not an intensive property? 

(a) heat content

(b) temperature

(c) physical state

(d) density

15. An object will sink in a liquid if the density of the object is greater than that of the liquid. What volume must an object have if its mass is 9.83 g for it to sink in liquid mercury (density = 13.6 g/cm3)?

(a) < 0.723 cm3
(b) < 7.48 cm3
(c) < 134 cm3
(d) none of these

(e) < 1.38 cm3
  16. A laboratory analyzed a standard known to contain 135 ppm lead. The following results were obtained. Which one of the following is true concerning this data set? 
Trial


ppm Lead

1 169

2 114

3 142

4 115

(a) the data set is accurate but not precise

(b) the data set is both precise and accurate 

(c) the data set is precise but not accurate

(d) the data set is neither precise nor accurate

(e) impossible to tell anything about the accuracy and precision from the date given.

17. How many significant figures should there be in the answer to the following problem?

(10.07 + 7.395)

2.5

(a) 2

(b) 1

(c) 4

(d) 3

(e) unable to tell from data given.
18. How many significant figures should be retained in the result of the following calculations?

(11.13 – 2.6) X 104
(103.05 + 16.9) X 10-6
(a) 1

(b) 4

(c) 3

(d) 2

(e) none of the above.

19. Which one of the following is the greatest mass?

(a) 7.73 x 10-2 mg

(b) 4.22 x 108 Mg

(c) 9.73 x 109 pg

(d) 6.83 x 10-5 Mg

(e) none of the above.
20. Which one of the following is correct for the conversion of 2.12 x 10-8 cm/min to fathoms per fortnight (ftnite) given that a fortnight is 14 days and a fathom is 6 feet?
(a) 2.12x10-8 cm
1 in
      1ft
  1 fthm  60 min
 1 day
   14 days
1 min

2.54 cm    12 in     6 ft
    1 hr
   
24 hr
    1 ftnite

(b) 2.12x10-8 cm
1 in
      1ft
      6 ft
         60 min
   24 hr
   14 days
1 min

2.54 cm    12 in     1 fthm        1 hr
   1 day
    1 ftnite

(c) 2.12x10-8 cm
2.54 cm      12 in     1 fthm    60 min
24 hr
   14 days
    1 min
1 in
      1 ft         6 ft
  1 hr
 1 day
    1 ftnite

(d) 2.12x10-8 cm
1 in
      1ft
  1 fthm   60 min   24 hr     14 days
1 min

2.54 cm    12 in     6 ft
    1 hr
     1 day       1 ftnite

(e) none of the above.
21. A dg is _________ cg.

(a) 0.01

(b) 100

(c) 10

(d) 0.1

(e) none of the above.

22. One mg/cm2 equals __________ kg/m2.

(a) 10-4
(b) 10-6
(c)  102
(d)  10-2
(e) none of the above.
23. An acceleration of 320 ft/min2 is _____________ m/s2. 

(a)  0.0271

(b) 1.63

(c) 3.51 x 107
(d) 5.85 x 105
(e) none of the above.
24. Zinc has a density of 446 lb/ft3. What is the density of zinc in g/cm3?

(a) 7.14 g/cm3
(b) 0.0323 g/cm3
(c) 6.64 X 103 g/cm3
(d)  3.65 g/cm3
(e) none of the above.
25. The density of magnesium is 1.74 g/cm3. What is the mass of a magnesium block that measures 2.5 cm X 3.5 cm X 1.5 cm?

(a) 12 g

(b) 48 g

(c) 23 g

(d) 7.5 g

(e) none of the above.
